ECE301, Summer 2016 Quiz 2 June 29, 2016

1. (a) (6 points) Discrete Time Convolution

Given that
z[n] = é[n] + 20[n — 1] = é[n — 2]

hln] = u[n] — u[n — 3]

Calculate the convolution y[n] = x[n]*h[n]. Show your work (give some justification
if using graphical methods).
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(b) (4 points) Continuous Time Convolution
For the signal and system

x(t) = e 2u(t)
h(t) = u(t — 1) — u(t — 2)

Set up the integrals with the corresponding overlap regions (no-, partial-, and full-
overlap). You do not need to solve the integrals, just set them up with
correct integrands and limits.
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